

NONOSCILLATORY SOLUTIONS OF A HIGHER-ORDER
NONLINEAR NEUTRAL DELAY DIFFERENTIAL EQUATION

Zhenyu Guo^{1 §}, Xiaoying Zhao², Min Liu³

^{1,2,3}School of Sciences

Liaoning Shihua University

Fushun, Liaoning, 113001, P.R. CHINA

¹e-mail: guozy@163.com

²e-mail: zhaoxiaoying_001@163.com

³e-mail: min.liu@yeah.net

Abstract: A higher-order nonlinear neutral delay differential equation

$$\left\{ r_n(t) \cdots \left[r_2(t) \left[r_1(t) [x(t) + P(t)x(t - \tau)]' \right]' \right] \cdots \right\}' \\ + F(t, x(t - \sigma_1), x(t - \sigma_2), \cdots, x(t - \sigma_m)) = 0, \quad t \geq t_0,$$

where $\tau > 0, \sigma_1, \sigma_2, \cdots, \sigma_m \geq 0, F \in C([t_0, +\infty) \times \mathbb{R}^m, \mathbb{R}), P, r_i \in C([t_0, \infty), \mathbb{R}), 1 \leq i \leq n$, is studied in this paper, and some sufficient conditions for the existence of nonoscillatory solutions of this equation are established by using Krasnoselskii fixed point theorem and expressed through five theorems according to the range of the value of the function $P(t)$.

AMS Subject Classification: 34K15, 34C10

Key Words: nonoscillatory solution, higher-order neutral delay differential equation, Krasnoselskii fixed point theorem

Received: October 27, 2010

© 2011 Academic Publications, Ltd.

[§]Correspondence author

1. Introduction and Preliminaries

Recently, many researchers have payed their attention to second-order neutral delay differential equations, refer to [1,3~5,8,9,11~16]. In 1998, Kulenovic and Hadziomerspahic [8] studied the following second-order linear neutral delay differential equation with positive and negative coefficients:

$$\frac{d^2}{dt^2}(x(t) + px(t - \tau)) + Q_1(t)x(t - \sigma_1) - Q_2(t)x(t - \sigma_2) = 0, \quad t \geq t_0, \quad (1.1)$$

where $\tau > 0, \sigma_1, \sigma_2 \geq 0, p \in \mathbb{R} = (-\infty, +\infty), Q_1, Q_2 \in C([t_0, +\infty), \mathbb{R}^+)$ with $\mathbb{R}^+ = [0, +\infty)$, and gave some sufficient conditions which guarantee the existence of nonoscillatory solutions of equation (1.1). In 2004, Cheng and Annie [3] established the existence of solutions of equation (1.1) under weaker conditions and improved the works of Kulenovic and Hadziomerspahic [8]. In 2005, Yu and Wang [15] extended the results of Kulenovic and Hadziomerspahic [8] and investigated the existence of nonoscillatory solutions for the following second-order nonlinear neutral delay differential equation with positive and negative coefficients:

$$\left(r(t)(x(t) + P(t)x(t - \tau))' \right)' + Q_1(t)f(x(t - \sigma_1)) - Q_2(t)g(x(t - \sigma_2)) = 0, \quad t \geq t_0, \quad (1.2)$$

where $\tau > 0, \sigma_1, \sigma_2 \geq 0, P, r \in C([t_0, +\infty), \mathbb{R}), Q_1, Q_2 \in C([t_0, +\infty), \mathbb{R}^+), f, g \in C(\mathbb{R}, \mathbb{R})$. In 2007, Zhou [16] studied the following second-order nonlinear neutral delay differential equation:

$$\left(r(t)(x(t) + P(t)x(t - \tau))' \right)' + \sum_{i=1}^m Q_i(t)f_i(x(t - \sigma_i)) = 0, \quad t \geq t_0, \quad (1.3)$$

where $\tau > 0, \sigma_i \geq 0, P, r, Q_i \in C([t_0, +\infty), \mathbb{R}), f_i \in C(\mathbb{R}, \mathbb{R}), i = 1, 2, \dots, m$, which improved the results of Kulenovic, Hadziomerspahic [8] and Yu, Wang [15]. For further knowledge of existence and uniqueness of solutions of neutral delay differential equations, pay the respect to [2,6,7].

Motivated by the papers mentioned above, in this paper we investigate the following higher-order nonlinear neutral delay differential equation

$$\left\{ r_n(t) \cdots \left[r_2(t) \left[r_1(t) [x(t) + P(t)x(t - \tau)]' \right]' \right]' \cdots \right\}' + F(t, x(t - \sigma_1), x(t - \sigma_2), \dots, x(t - \sigma_m)) = 0, \quad t \geq t_0, \quad (1.4)$$

where $\tau > 0, \sigma_i \geq 0, F \in C([t_0, +\infty) \times \mathbb{R}^m, \mathbb{R}), P, r_j \in C([t_0, \infty), \mathbb{R})$ for $i \in \{1, 2, \dots, m\}, j \in \{1, 2, \dots, n\}$, and establish the existence of nonoscillatory solutions for equation (1.4) by using Krasnoselskii fixed point theorem. Clearly equation (1.1) \sim (1.3) are special cases of equation (1.4).

Lemma 1.1. (Krasnoselskii Fixed Point Theorem) *Let S be a bounded closed convex subset of a Banach space X and $T_1, T_2 : S \rightarrow X$ satisfy $T_1x + T_2y \in S$ for each $x, y \in S$. If T_1 is a contraction mapping and T_2 is a completely continuous mapping, then the equation $T_1x + T_2x = x$ has at least one solution in S .*

A solution of equation (1.4) is said to be oscillatory if it neither eventually positive nor eventually negative, and otherwise it is called nonoscillatory. Let $u \in C([t_0 - \rho, +\infty), \mathbb{R})$, where $\rho = \max\{\tau, \sigma_j\}$, where $1 \leq j \leq m$, be a given function and y_0 a given constant. From the method of steps, it follows that equation (1.4) has a unique solution $x \in C([t_0 - \rho, +\infty), \mathbb{R})$ if $x(t) + P(t)x(t - \tau), r_1(t)[x(t) + P(t)x(t - \tau)]', r_2(t)[r_1(t)[x(t) + P(t)x(t - \tau)]', \dots, r_n(t)[r_{n-1}(t) \cdots [r_2(t)[r_1(t)[x(t) + P(t)x(t - \tau)]']'] \cdots$ are continuously differentiable for $t \geq t_0$, $x(t)$ satisfies the equation (1.4) and

$$\begin{aligned} x(s) &= u(s) \quad \text{for } s \in [t_0 - \rho, t_0], \\ (x(t) + P(t)x(t - \tau))'_{t=t_0} &= y_0. \end{aligned}$$

Throughout this paper, we assume that $\rho = \max\{\tau, \sigma_j\}$, where $1 \leq j \leq n$, and X denotes the set of all continuous and bounded functions on $[t_0, +\infty)$ with the sup norm and

$$S = \{x \in X : M \leq x(t) \leq N, t \geq t_0\}$$

for $N > M > 0$. Obviously, S is a nonempty closed convex subset of the Banach space X . For $P \in C([t_0, +\infty), \mathbb{R})$, put

$$\overline{P} = \limsup_{t \rightarrow +\infty} P(t) \quad \text{and} \quad \underline{P} = \liminf_{t \rightarrow +\infty} P(t).$$

2. Existence of Nonoscillatory Solutions

In this section, a few sufficient conditions of the existence of nonoscillatory solutions for equation (1.4) are given.

Theorem 2.1. Assume that there exist constants P_0 , M and N with $N > M > 0$ and functions $h, q \in C([t_0, +\infty), \mathbb{R}^+)$ and $P, r_i \in C([t_0, +\infty), \mathbb{R})$, where $1 \leq i \leq m$, such that for $t \in [t_0, +\infty)$

$$|P(t)| \leq P_0 < \frac{N - M}{2N}, \text{ eventually,} \quad (2.1)$$

$$\begin{aligned} & |F(t, u_1, u_2, \dots, u_m) - F(t, v_1, v_2, \dots, v_m)| \\ & \leq h(t) \max \{|u_i - v_i| : u_i, v_i \in [M, N], 1 \leq i \leq m\}, \end{aligned} \quad (2.2)$$

$$|F(t, u_1, u_2, \dots, u_m)| \leq q(t), \quad u_i \in [M, N], 1 \leq i \leq m, \quad (2.3)$$

$$\int_{t_0}^{+\infty} \max \left\{ \frac{1}{|r_i(t)|}, h(t), q(t) : 1 \leq i \leq m \right\} dt < +\infty. \quad (2.4)$$

Then equation (1.4) has a nonoscillatory solution.

Proof. Choose $L \in (M + P_0N, N - P_0N)$. By (2.1) and (2.4), there exists a sufficiently large $l > t_0 + \rho$ such that

$$|P(t)| \leq P_0 < \frac{N - M}{2N}, \quad \forall t \geq l \quad (2.5)$$

and

$$\begin{aligned} & \int_l^{+\infty} \int_{s_1}^{+\infty} \dots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \dots ds_1 \\ & \leq \min\{L - P_0N - M, N - P_0N - L\}. \end{aligned} \quad (2.6)$$

Define two mappings $T_1, T_2 : S \rightarrow X$ by

$$(T_1x)(t) = \begin{cases} L - P(t)x(t - \tau), & t \geq l, \\ (T_1x)(l), & t_0 \leq t < l, \end{cases} \quad (2.7)$$

$$(T_2x)(t) = \begin{cases} (-1)^n \int_t^{+\infty} \int_{s_1}^{+\infty} \dots \\ \int_{s_n}^{+\infty} \frac{F(s, x(s - \sigma_1), \dots, x(s - \sigma_m))}{\prod_{i=1}^n r_i(s_i)} ds ds_n \dots ds_1, & t \geq l \\ (T_2x)(l), & t_0 \leq t < l, \end{cases} \quad (2.8)$$

for all $x \in S$.

(i) It is claimed that $T_1x + T_2y \in S$ for all $x, y \in S$.

In fact, for each $x, y \in S$ and $t \geq l$, it follows from (2.3), (2.5) and (2.6) that

$$\begin{aligned}
& (T_1x)(t) + (T_2y)(t) \\
& \geq L - P_0x(t - \tau) - \int_t^{+\infty} \int_{s_1}^{+\infty} \cdots \\
& \quad \int_{s_n}^{+\infty} \frac{|F(s, y(s - \sigma_1), \dots, y(s - \sigma_m))|}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \geq L - P_0N - \int_l^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \geq M
\end{aligned}$$

and

$$\begin{aligned}
& (T_1x)(t) + (T_2y)(t) \\
& \leq L + P_0N + \int_l^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \leq N.
\end{aligned}$$

Thus, $T_1x + T_2y \in S$ for any $x, y \in S$.

(ii) It is declared that T_1 is a contraction mapping on S .

In reality, for any $x, y \in S$ and $t \geq l$, it is easy to derive that

$$|(T_1x)(t) - (T_1y)(t)| \leq |P(t)||x(t - \tau) - y(t - \tau)| \leq P_0||x - y||,$$

which implies that

$$||T_1x - T_1y|| \leq P_0||x - y||.$$

$P_0 < \frac{N-M}{2N} < 1$ ensures that T_1 is a contraction mapping on S .

(iii) It can be asserted that T_2 is completely continuous.

Firstly, we show T_2 is continuous. Let $\{x_k\}_{k \geq 0} = \{x_k(t)\}_{k \geq 0} \subset S$ be a sequence such that $x_k \rightarrow x = x(t)$ as $k \rightarrow +\infty$. Since S is closed, $x \in S$. For

$t \geq l$, (2.2) guarantees that

$$\begin{aligned}
& |(T_2 x_k)(t) - (T_2 x)(t)| \\
& \leq \int_t^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \\
& \quad \frac{h(s) \max \{|x_k(s - \sigma_i) - x(s - \sigma_i)| : 1 \leq i \leq m\}}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \leq \|x_k - x\| \int_t^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{h(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1.
\end{aligned}$$

This above inequality together with (2.4) implies that T_2 is continuous.

Next, we prove $T_2 S$ is relatively compact. It suffices to show that the family of functions $\{T_2 x : x \in S\}$ is uniformly bounded and equicontinuous on $[t_0, +\infty)$. The uniform boundedness is obvious. For the equicontinuity, according to Levitan's result [10], it is only need to prove that, for any given $\varepsilon > 0$, $[t_0, +\infty)$ can be decomposed into finite subintervals in such a way that on each subinterval all functions of the family have change of amplitude less than ε . By (2.4), for any $\varepsilon > 0$, take $l' \geq l$ large enough so that

$$\int_{l'}^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 < \frac{\varepsilon}{2}. \quad (2.9)$$

Then, for any $x \in S$ and $t_2 > t_1 \geq l'$, (2.9) ensures that

$$\begin{aligned}
& |(T_2 x)(t_2) - (T_2 x)(t_1)| \\
& \leq \int_{t_2}^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{|F(s, x(s - \sigma_1), \cdots, x(s - \sigma_m))|}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \quad + \int_{t_1}^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{|F(s, x(s - \sigma_1), \cdots, x(s - \sigma_m))|}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \leq \int_{l'}^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \quad + \int_{l'}^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon.
\end{aligned}$$

For any $x \in S$ and $l \leq t_1 < t_2 \leq l'$, there exists $\delta > 0$ such that if $0 < t_2 - t_1 < \delta$,

then

$$\begin{aligned}
& |(T_2x)(t_2) - (T_2x)(t_1)| \\
& \leq \int_{t_1}^{t_2} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{|F(s, x(s - \sigma_1), \dots, x(s - \sigma_m))|}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \leq \int_{t_1}^{t_2} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& < \varepsilon.
\end{aligned}$$

For any $x \in S$ and $t_0 \leq t_1 < t_2 \leq l$, it is easy to get that

$$|(T_2x)(t_2) - (T_2x)(t_1)| = 0 < \varepsilon.$$

Consequently $\{T_2x : x \in S\}$ is uniformly bounded and equicontinuous on $[t_0, +\infty)$. Therefore T_2S is relatively compact. It follows from Lemma 1.1 that there is $x_0 \in S$ such that $T_1x_0 + T_2x_0 = x_0$. Obviously, $x_0(t)$ is a nonoscillatory solution of equation (1.4). This completes the proof.

Theorem 2.2. Assume that there exist constants M and N with $N > \frac{2-P}{1-\bar{P}}M > 0$ and functions $h, q \in C([t_0, +\infty), \mathbb{R}^+)$ and $P, r_i \in C([t_0, +\infty), \mathbb{R})$, where $1 \leq i \leq m$, satisfying (2.2) ~ (2.4) and

$$P(t) \geq 0, \text{ eventually, and } 0 \leq \underline{P} \leq \bar{P} < 1. \quad (2.10)$$

Then equation (1.4) has a nonoscillatory solution in S .

Proof. Choose $L \in (M + \frac{1+\bar{P}}{2}N, N + \frac{P}{2}M)$. By (2.10) and (2.4), a sufficiently large $l > t_0 + \rho$ can be chosen such that

$$\frac{P}{2} \leq P(t) \leq \frac{1+\bar{P}}{2}, \forall t \geq l \quad (2.11)$$

and

$$\begin{aligned}
& \int_l^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\
& \leq \min \left\{ L - M - \frac{1+\bar{P}}{2}N, N - L + \frac{P}{2}M \right\}. \quad (2.12)
\end{aligned}$$

Define two mappings $T_1, T_2 : S \rightarrow X$ as (2.7) and (2.8). The rest proof is analogous to that in Theorem 2.1. This completes the proof.

Similar to the proof of Theorem 2.2, we have

Theorem 2.3. Assume that there exist constants M and N with $N > \frac{2+\overline{P}}{1+\underline{P}}M > 0$ and functions $h, q \in C([t_0, +\infty), \mathbb{R}^+)$ and $P, r_i \in C([t_0, +\infty), \mathbb{R})$, where $1 \leq i \leq m$, satisfying (2.2) \sim (2.4) and

$$P(t) \leq 0, \text{ eventually, and } -1 < \underline{P} \leq \overline{P} \leq 0. \quad (2.13)$$

Then equation (1.4) has a nonoscillatory solution in S .

Theorem 2.4. Assume that there exist constants M and N with $N > \frac{P(\overline{P}^2 - \underline{P})}{\overline{P}(\underline{P}^2 - \overline{P})}M > 0$ and functions $h, q \in C([t_0, +\infty), \mathbb{R}^+)$ and $P, r_i \in C([t_0, +\infty), \mathbb{R})$, where $1 \leq i \leq m$, satisfying (2.2) \sim (2.4) and

$$P(t) > 1, \text{ eventually, } 1 < \underline{P} \text{ and } \overline{P} < \underline{P}^2 < +\infty. \quad (2.14)$$

Then equation (1.4) has a nonoscillatory solution in S .

Proof. Take $\epsilon \in (0, \underline{P} - 1)$ sufficiently small satisfying

$$1 < \underline{P} - \epsilon < \overline{P} + \epsilon < (\underline{P} - \epsilon)^2 \quad (2.15)$$

and

$$((\overline{P} + \epsilon)(\underline{P} - \epsilon)^2 - (\overline{P} + \epsilon)^2)N > ((\overline{P} + \epsilon)^2(\underline{P} - \epsilon) - (\underline{P} - \epsilon)^2)M. \quad (2.16)$$

Choose $L \in ((\overline{P} + \epsilon)M + \frac{\overline{P} + \epsilon}{\underline{P} - \epsilon}N, (\underline{P} - \epsilon)N + \frac{P - \epsilon}{\overline{P} + \epsilon}M)$. By (2.15) and (2.4), there exists a sufficiently large $l > t_0 + \rho$ such that

$$\underline{P} - \epsilon < P(t) < \overline{P} + \epsilon, \quad \forall t \geq l \quad (2.17)$$

and

$$\begin{aligned} & \int_l^{+\infty} \int_{s_1}^{+\infty} \cdots \int_{s_n}^{+\infty} \frac{q(s)}{|\prod_{i=1}^n r_i(s_i)|} ds ds_n \cdots ds_1 \\ & \leq \min \left\{ \frac{P - \epsilon}{\overline{P} + \epsilon}L - (\underline{P} - \epsilon)M - N, \frac{P - \epsilon}{\overline{P} + \epsilon}M + (\underline{P} - \epsilon)N - L \right\}. \end{aligned} \quad (2.18)$$

Define two mappings $T_1, T_2 : S \rightarrow X$ by

$$(T_1 x)(t) = \begin{cases} \frac{L}{P(t+\tau)} - \frac{x(t+\tau)}{P(t+\tau)}, & t \geq l \\ (T_1 x)(l), & t_0 \leq t < l \end{cases} \quad (2.19)$$

$$(T_2x)(t) = \begin{cases} \frac{(-1)^n}{P(t+\tau)} \int_{t+\tau}^{+\infty} \int_{s_1}^{+\infty} \dots \\ \int_{s_n}^{+\infty} \frac{F(s, x(s-\sigma_1), \dots, x(s-\sigma_m))}{\prod_{i=1}^n r_i(s_i)} ds ds_n \dots ds_1, & t \geq l \\ (T_2x)(l), & t_0 \leq t < l \end{cases} \quad (2.20)$$

for all $x \in S$. The rest proof is similar to that in Theorem 2.1. This completes the proof.

As the proof of Theorem 2.4, we have

Theorem 2.5. Assume that there exist constants M and N with $N > \frac{1+\underline{P}}{1+\overline{P}}M > 0$ and functions $h, q \in C([t_0, +\infty), \mathbb{R}^+)$ and $P, r_i \in C([t_0, +\infty), \mathbb{R})$, where $1 \leq i \leq m$, satisfying (2.2) \sim (2.4) and

$$P(t) < -1, \text{ eventually, } -\infty < \underline{P} \text{ and } \overline{P} < -1. \quad (2.21)$$

Then equation (1.4) has a nonoscillatory solution in S .

Remark 2.1. Theorems 2.1~2.5 extend and improve Theorem A of Cheng and Annie [3], Theorem of Kulenovic and Hadziomerspahic [8], Theorems 1-3 of Yu and Wang [14], and Theorem 1 of Zhou [16].

References

- [1] R.P. Agarwal, D. O'Regan, S.H. Saker, Oscillation criteria for second-order nonlinear neutral delay dynamic equations, *J. Math. Anal. Appl.*, **300** (2004), 203-217
- [2] D.D. Bainov, D.P. Mishev, *Oscillation Theory for Neutral Differential Equation with Delay*, Hilger, Bristol (1991).
- [3] J.F. Cheng, Z. Annie, Existence of nonoscillatory solution to second order linear neutral delay equation, *J. Sys. Sci. Math. Scis.*, **24**, No. 3 (2004), 389-397
- [4] A. Elbert, Oscillation and nonoscillation criteria for linear second-order differential equations, *J. Math. Anal. Appl.*, **226** (1998), 207-219.
- [5] H. El-Metwally, M.R.S. Kulenovic, S. Hadziomerspahic, Nonoscillatory solutions for system of neutral delay equation, *Nonlinear Anal.*, **54** (2003), 63-81.
- [6] I. Gyori, G. Ladas, *Oscillation Theory for Delay Differential Equations with Applications*, Oxford Univ. Press, London (1991)

- [7] J.K. Hale, *Theory of Functional Differential Equatin*, Springer-Verlag, New York (1977).
- [8] M.R.S. Kulenovic, S. Hadziomerspahic, Existence of nonoscillatory solution of second-order linear neutral delay equation, *J. Math. Anal. Appl.*, **228** (1998), 436-448.
- [9] M.R.S. Kulenovic, S. Hadziomerspahic, Existence of nonoscillatory solution for linear neutral delay equation, *Fasc. Math.*, **32** (2001), 61-72.
- [10] B.M. Levitan, Some problems of the theory of almost periodic functions, *Uspekhi Math. Nauk*, **2**, No. 5 (1947), 133-192.
- [11] W. Li, Positive solutions of second-order nonlinear differential equations, *J. Math. Anal. Appl.*, **221** (1998), 326-337.
- [12] Y. Liu, W. Ge, Asymptotic behavior of certain delay differential equations with forcing term, *J. Math. Anal. Appl.*, **280** (2003), 350-363.
- [13] J. Shen, X. Tang, New nonoscillation criteria for delay differential equations, *J. Math. Anal. Appl.*, **290** (2004), 1-9.
- [14] X. Tang, Y. Liu, Bounded oscillation for second-order delay differential equations with unstable type in a critical case, *Appl. Math. Letters*, **16** (2003), 263-268.
- [15] Y. Yu, H. Wang, Nonoscillatory solutions of second-order nonlinear neutral delay equations, *J. Math. Anal. Appl.*, **311** (2005), 445-456.
- [16] Y. Zhou, Existence for nonoscillatory solutions of second-order nonlinear differential equations, *J. Math. Anal. Appl.*, **331** (2007), 91-96.